™

SUBARU BRZ R&D SPORT
BODY SHELL

Official Licensed Product

NO. 48736 Clear Body 1/10 RC PLANNING INSTRUCTION SHEET
NO. 48737 Semi-finished Body

killerbod.

This body can be used with 1/10 electric touring car chassis (Long Wheelbase: 257mm, Width: 195mm)
Before beginning assembly, please read these instructions thoroughly!

@ Symbols used throughout the instruction manual, comprise:

S5mm
@ || Dril holes with [A Pay close atlention namr g Must be purchased ! /j Assemble laft and right sides
Cant ot '“"m padtion. ""l'l,] the specified diametar e separatety, = the sama way.

J

e

|- ﬁﬂf’ﬂ

e B BTXER

@ Before Assembly

= In tha case of a decoration body, please assemble it according to &= In the case ol non decoration body, please assemble it according to
the comtents showed, the contents showed,

When making the window iransparent

&= Il you want to make the window transparen! with a non decoration = If you want to load LED lights with a non decoration body, please
body, please assemble it according to the contents showed. assemble it according to the contents showed.




(e Screw M1.4X6mm

X1

Body decal sheet

X2

PARTS
ABS parts

X2

© Nut 2.6X1.4mm

X1

Window masks

X4

PC parts

X2

G== Clip

X1

1 Silver mirror decal

-X

Stainless steel air intake mesh ---------

QO o-Ring

X8

[Ii‘;m.\:l Screw 2.3X6mm

X1

Trailer ring (red)

® Pc part-1

(® 485 part-2

PLASTIC PARTS

) ABs part-1

e PC part-4

(@ rcpart3

(®)rc part2







Cutting

Painting

Cut and smooth rough edge. Paint spray color what you prefer on these parts.
It is advised use the recommended spray color as below.
(ALB) 06
AD4L AD4R : ADSL AD5SR : BO1L BO1R
Red B03 BO8 1 B05 BO6 BO7 1 B02L BO2R
1 I
[ |
\ AO5R |
> AdaL | AOSL |
: |
Black Red : :
A04R i Blue Blue “ E
1 ue
i BO5 X |
I
Black | 1
B03 ! B06 i
I
[ Blue 1
! BO7 :
Silver-gray : :
1 I
B08 | : 3 .
\ ai h Chrome silver
g ue
Silver-gray

Painting

@ Before painting, use a neutral detergent to
remove any oil residues and dirt.

@ Mask the parts from inside.

© Aiter painting, remove the protective
film from the body shell.

@ Paint spray color from the inside. PC1: Paint blue spray color first,
remove the window mask ®,

@ @ @ e A and then paint sliver spray color.

PC7

PC8

Black




When making the window transparent

‘Non Decoration Body

When loading LED lights

p The decal numbers between brackets are only for the opposite side.

When reproducing the light by decal

» Change the decal according to the following contents.




[ ~ssembling
b

oy
Fixing with
glue gun. -







([0] Assembling

(kB Assembling

Stainless steel air intake mesh




(P4 Assembling

Double-sided tape 2'1!/
)

L®/R®

Assembling

Screw 2.3X6mm




Assembling

Screw M1.4X4mm

‘ Lock the nuts and fix
\] with screw cement.

(f5] Assembling

LED stopper
B coovvsins 4 <Front>

<Rear>

Double-sided tape

Double-sided tape \

Double-sided tape

10



NO. 48739 Racing Decal Sheet

Decal

1"



WI res DIStrIbUtlon NO. 48742 LED Unit Set w/Control Box 5 LEDS (3mm: 4 LEDS; 5mm: 1 LEDS)

LED 1 ( white lights: 3mm)
=)

gke] Finished

\ = For safety reasons, always fit the body
shell when running your car.

12



	斯巴鲁01
	斯巴鲁02
	斯巴鲁03
	斯巴鲁04
	斯巴鲁05
	斯巴鲁06
	斯巴鲁07
	斯巴鲁08
	斯巴鲁09
	斯巴鲁10
	斯巴鲁11
	斯巴鲁12

